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1. This substance cannot pass through

semipermeable walls of glomerulus
(A) Globin
(B) Albumin

(C) Blood cells
@)’@;u(:f the above
qE TST TATHEETH chi STUATA T SRl & T2

T Hehal &

(A) Tt

@ (B) Tegfe

(C) T hiTITehTAT
P




2. The reason why the right Kidney is slightly

lower than the left is
(A) the left kidney is bigger than right
(B) considerable space occupied by the heart

) considerable space occupied by the liver on
the right side

(D) the right kidney is bigger than the left
Tt T, AT Tk § TST AT cht ST T 2T &-

@ (A) STt FeFeh, T H ST EET 2
(B) feora wre gea gwn fim ot &-
(D) It 37 1 TaFh, T A TST 24T 2



3. This pressure facilitates filtration while urine is

being formed

(A) filtrate hydrostatic pressure

(B) osmotic blood pressure

(D) all of these

T & I9d AHT I AT BAF oh (o1 A hLat -
(A) Theete grsgeeies saa

(B) sraHTESHh THAd

hiVTehT TSI IEh qaT
(D) T @+t



4. This happens if the proximal convoluted tubule

is removed from nephron
(A) urine is not formed
N (B) quality and quantity of urine is unaffected
(C) prine is more concentrated
‘/G[(:rme is more diluted
TTEY SHrAFeS ATCTehT hl
?mm | gl ﬁm AT E

(A) 9T T T2
(B) W S TUTIT 3R AT ATHTE &

(C) AT Atk At gaT
)| atferen geren gt
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S. This is the activity of Atrial Natriuretic peptide
(ANP)

(A) inhibits aldosterone and ADH secretion

(B) decreases reabsorption of water

(C) decreases reabsoprtion of sodium
S ) all of these

TE UZTHAT AA gLk UeT3e (ANP) i fafafer

(A) TEEreelid 3R TSty |Ta i Tkt 8
(B)Mmﬁm%

(C) ol O Theg hi HT HLAT 8
OF=



6. The total number of orifices for outgoing

and incoming of urine through the bladder is
AT | 9 o AT YT T & o w0

fopa fom -

(A) 2

[a573]

(C) 4
(D)5




7. This artery passes blood to the kidney
(A) common iliac
(B) cystic

(D) coeliac
aE UL AT Tk H T TEATA] &-
(A) 3T 3foraTen

2 ©

(D) Hifetueh



8. This is the functional unit of the kidney

(A) Hilum

(B)N rons
Sawons ] (7))
(D) Medulla

TE T hl HIATCHE JHTS &
(A) e

(D) Wge



9. is considered as the basic functional unit

of the human kidney

(A)
F' N ephron

(C) Cilia
(D) Neuron
1 WA TG chi T ShId(cHeh 313 HTT

AT

e

A) F&E
e

(C) Tarfera
(D) ==



10. The Krebs-Henseleit cycle is a sequence of

biochemical reactions that take place in

Kidneis @

(C) Urinary bladder

(D) Lungs
hoH -2~ e13¢ dsh Ad THTA Tk TTATSHATAT hi Ueh

HEare




11. Bowman capsule is located in

\(X{Cortex

(B) Henle's loop

(C) Bladder @

(D) None of the above

(Tp?p m i fror 3

(B) &7t &9
7 (C) TATI
K (D) IUTH | | iz T2




12. are tubes made up of smooth muscle

fibres that transport urine to the bladder from the

kidneys
(A) Renal Papilla
@ (B) Urethra
'
(D) None of the above
UhetrA - Rrepeft st diait & et AferenTd & i ot bt
Ik | HATIE qh TgaTdl §
(A) T qTieT
(B) s

'
(D) I9T<H | | hig Tl



13. Nitrogenous wastes excreted through urine in
humans is

(A) Trimethylamine oxide

(B) Ammonia

(C) Uric Acid

)[Urea |
Tl § W o WTSAH | IeAtid AT AU &

(A) grEfaeTgemTET SHTaaTse
(B) AHI=AT

(C)%@z



14. is a muscular sac located in the pelvis,

just behind the pubic bone.
(A) Bowman's capsule

3] Urinary bladder

(C) Ureter

(D) None of the above
oriTuT o fRera vk uvia et &, A1 ufeaeh

%}q @%aﬁaﬁﬁ%%l
al “
(C)W-

(D) I9T<H | H kg Tl



1S. The synthesizes most of the excretory

compound in humans and is eliminated through

)
(B) Kidneys, Urine
@ (C) Liver, Bile juice
(D) None of the above
T § T AT IcAS AR T ST
% Iz <k HTETH o HTH fhaT AaT 2

(B) e, &
(C) R, ™
(D) 39T | H hig Tl



16. is responsible for the recovery of

water and sodium chloride from the urine.
(A) Bowman's capsule
(B) Ureter

C) Loop of Henle

(D) None of the above
TH H IHT AR TSTT FARSS hl THA
@ & foru Rmew 2
(A) FTT HHA
(B) FA-aTiefAat
)|ET T T
(D) I9T<H | H hig Tl




17. The are kidney tissues that are

shaped like cones.

X)IRenal pyramids

(B) Renal pelvis
(C) Renal calculi
(D) Renal vasculitis

T S Hch € T Iich oh TR oh &4 2|

(B) Iak HATTOT



18. are cells present in the Bowman capsule

that wrap around the capillaries of the glomerulus.

(A) Zymogenic cells

(B) Enterochromaffin-like cells

\;g} Parietal cells
)[Podocytes |

‘ T T § Wi ST § S e
| ©)  HBrewai ¥ aw R e
(A) Zymogenic hITITRTIT
(B) USTShIAT T ShIfITeRTd
(C) GHHHT HITITehT




19. is a condition characterized by the

presence of red blood cells in the urine

(A) Haematoma

3) Haematuria

H e : 19/ (C) Haematemesis
L (D) None of the above
WA | GITCT T ShITITRTSAT chi SuTRefe <ht

Rbe
o @ ﬁrﬁm%




20). is a yellow pigment that is formed after dead

blood cells are processed in the liver. It is also primarily

responsible for the yellow colouy of urine

() Zeaxantin

(C) Carotenoids (D) None of the above

Ueh UTeTT T3 & AT 0 T ShiTIThtart o R |
HETAA & % T18 J7aT1 81 T8 73 o Het &1 3 for oft wem
s & e ® -

(A) Srarem ol

(C) FeATasH (D) SUTH | & hig TE1




4 8 produces urea as the excretory

substance in the human body.
(A) Kidneys
:
(C) Urinary bladder
(D) Digestive system

TS YRR | IeawH 9gTel 3 B9 | g
T IUTE HLAT 2l

(A) T
=

(C) T
(D) 9T a9




22. The is a network of tiny blood vessels

located at the beginning of a nephron.
(A) Renal calyces
(B) Renal pyramid

@ (C) Bowman's capsule
(@;\ ATHTA Shi ITEATA | RRod BIEt 6
i ATERT3AT ST Ueh A2deh gl
| (A) TS <t Tt

YR j 2 i

(C) L {

S k]




23. In amoeba excretion takes place through the

proceis of:
(B) Infusion
@ (C) Uricotelic

(D) None of the above

Vawﬂ%wm%ﬂmmﬁﬁm%:
)

(B) ATET
(C) aftmtefern
(D) I9T<H | & hig Tl



24. Name the excretory organ present in

earthworm through which excretion takes place?
(A) Moist Skin

(B) Nephridia

(D) Only B
HYAT H IAFEYA oA T T ATH FaT0 s
qTEaw | Ie0e1T 2iaT 87
@ (A) T ==
(B) FIhIST
() A IR B FMA
(D) e B



25. The major waste produced by human body

are:
(A) Carbon dioxide

(B) Uyea
(D) Only B

@ (A) TS SEATFATSS
(B) I
(D) et B



26. Which organ in the human body is responsible for

removing carbon dioxide from the body?

(A) Kidney
D

(C) Blood

(D) Ureter

A YRR | i AT 31T SRR & e STSATFATSES i
#eH & forg rem 22

(A)



27. Each kidney is made up of a large number of
excretory units called:

(A) Glomerulus

(B) Bowman's Capsule

(D) Blood capillaries
Tedeh fensHt It 6%t ¥ I 3ahTsdl ° aHl
grat g o
(A) TTHEAH
(B) Tr W
win_
(D) T HISTRTITT



28. In which of the following are the largest amounts

of nitrogen excreted from a mammalian body?
(A) Breath

(B) Sweat
©
(D) Faeces

TATURY IR | AT AT hi qad TSt 4t A
o o foree et 22

(A) F
(B ‘0912%

(D) #e1



29. The best long term solution for kidney failure is:

(A) Dialysis
(B) Kidney transplant
(C) Both Aand B @

(D) Only $BS$
¢ <t freraT o1 aad oot et aaTaT &:




30. What types of nitrogenous wastes are excreted by

living organisms?

(A) Ammonia
(B) Uric acid




31. Name the organs that make up the excretory

system in humans?
(A) Two Kidneys
(B) Two Ureters

(C) Bladder and Urethra
I AT T ATH FATIC AT ATSAT | IJeet TUTEAT TATH 82

(A) ST
(B) a1 Ureters



32. Which vessel carries blood to the kidneys?

(B) Renal Vein

(C) Both A and B

(D) Only A

1 GIATH-ATTERT 713 hl Tth Ugadrl 82
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